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on 27 Jan 2018" Afternoon Shift (General Awareness)

QID : 651 - Which of the following is not taken into account to estimate national income?
Options:

1) Services of a personal secretary

2) Services of a housewife

3) Services of a car driver

4) services of touriest guide

Correct Answer: Services of a housewife

QID : 652 - Parallel economy emerges due to
Options:

1) Tax Estimation

2) Tax Compliance

3) Tax Avoidanc

4) Tax Evasion

Correct Answer: Tax Evasion

QID : 653 - Approximately how much is the net area under crops sown in India?
Options:

1) 14 crore hectares

2) 20 crore hectares
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3) 22 crore hectares
4) 24 crore hectares
Correct Answer: 14 crore hectares

QID : 654 - In which of the following year Micro, Small and Medium Enterprises Development
Act (MSMED) was passed?

Options:

1) 2004

2) 2005
3) 2006

4) 2007
Correct Answer: 2006

QID : 655 - As per Census of India-2011 which of the following pairs of cities recorded the
highest population?

Options:

1) Delhi and Chennai

2) Delhi and Kolkata

3) Delhi and Mumbai

4) Mumbai and Chennai

Correct Answer: Delhi and Mumbai

QID : 656 - "The state is everywhere: it leaves hardly a gap", this statement explains the
concept of

Options:

1) Welfare State

2) Police State

3) Democratic State

4) Communist State

Correct Answer: Welfare State

QID : 657 - In which report of the Second Administrative Reforms Commission has identified
"Citizen-Centric Administration" as barriers of Good Governance in India?

Options:

1) 6th Report
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2) 8th Report

3) 10th Report

4) 12th Report

Correct Answer: 12th Report

QID : 658 - Which Schedule of the Constitution of India lists the States and Union Territories of
India?

Options:

1) First Schedule

2) Second Schedule

3) Third Schedule

4) Fourth Schedule

Correct Answer: First Schedule

QID : 659 - As per the Constitution of India, who is authorized to transfer the Judge of the High
Court to another High Court?

Options:

1) The Chief Justice of India

2) The Speaker of the Lok Sabha

3) The President of India

4) The Prime Minster of India

Correct Answer: The President of India

QID : 660 - Which article of the Constitution of India ensures the freedom of the press?
Options:

1) Article 15

2) Article 17

3) Article 19

4) Article 21

Correct Answer: Article 19

QID : 661 - Who was the first Tirthankara of Jainism?
Options:

1) Mahavir Swamy

2) Ajitnath

3) Rishabhdev
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4) Parshwanath
Correct Answer: Rishabhdev

QID : 662 - Who was the first Gupta ruler to attain the title of Maharajadhiraja?
Options:

1) Chandragupta |

2) Sumdragupta

3) Kumaragupta

4) Skandagupta

Correct Answer: Chandragupta |

QID : 663 - Which one of the following kings was defeated by Muhammad Ghori in the Battle of
Chandawar?

Options:

1) Prithviraj Chauhan

2) Jai Chand

3) Bhima ll

4) Kumarpala

Correct Answer: Jai Chand

QID : 664 - Who among the following was bestowed with the title of 'Saheb-e-Alam Bahadur' by
Bahadur Shah during the uprising of 1857?

Options:

1) Nana Sahib

2) Birjis Qadr

3) Bakht Khan

4) Tantia Tope

Correct Answer: Bakht Khan

QID : 665 - Who among the following was the President of the Central Legislative Assembly in
August 1925?

Options:

1) C.R. Das

2) Motilal Nehru

3) M.R. Jayakar

4) Vitthal Bhai Patel
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Correct Answer: Vitthal Bhai Patel

QID : 666 - Which of the following is considered to be the largest volcano on Earth (in terms of
its mass and footprint)?

Options:

1) Ojos del Salado

2) Mount Vesuvious

3) Tamu Massif

4) Mauna Kea

Correct Answer: Tamu Massif

QID : 667 - Which of the following layers of the atmosphere makes Radio Communication
possible?

Options:

1) Troposphere

2) Thermosphere

3) lonosphere

4) Stratosphere

Correct Answer: lonosphere

QID : 668 - What is the name of mid-latitude grass land in South America?
Options:

1) Prairie

2) Pampas

3) Veld

4) Steppes

Correct Answer: Pampas

QID : 669 - Mahatma Gandhi Hydropower Project is situated on which waterfall?
Options:

1) Hundru

2) Pykara

3) Jog

4) Shivsamudram

Correct Answer: Jog
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QID : 670 - At which of the following hills the Eastern Ghats join the Western Ghats?
Options:

1) Palani Hills

2) Mahendragiri Hills

3) Nilgiri Hills

4) Shevaroy Hills

Correct Answer: Nilgiri Hills

QID : 671 - Which state Government has launched the 'RISHTA' project?
Options:

1) Himachal Pradesh

2) Madhya Pradesh

3) Arunachal Pradesh

4) Andhra Pradesh

Correct Answer: Himachal Pradesh

QID : 672 - At which of the following places India's first Tribal Entrepreneurship Summit was
held in November 2017?

Options:

1) Bokaro

2) Purulia

3) Dantewada

4) Kurnool

Correct Answer: Dantewada

QID : 673 - Pradhan Mantri Jan-Dhan Yojana is related to
Options:

1) Poverty removal

2) Financial Service

3) Rural Development

4) Housing for the poor

Correct Answer: Financial Service

QID : 674 - Who among the following has won a gold medal at the World Weightlifting
Championship-2017?
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Options:

1) S. Mirabai Chanu

2) C. Swara Reddy

3) Usha Raut

4) Surjeet Kaur

Correct Answer: S. Mirabai Chanu

QID : 675 - Who among the following has won a bronze medal at the olympics held in the year
1952?

Options:

1) Milkha Singh

2) Norman

3) Harish Dhawan

4) K.D. Jadhav

Correct Answer: K.D. Jadhav

QID : 676 - "The Unseen Indira Gandhi" is written by
Options:

1) Rana Ayub

2) Dr. K. P. Mathur

3) Bharat Kumar

4) Tarun Khanna

Correct Answer: Dr. K. P. Mathur

QID : 677 - Who among the following has received Dronacharya Award in August 20177
Options:

1) Brij Bhushan Mohanty

2) Prashanti Singh

3) Jasvir Singh

4) Sumarai Tete

Correct Answer: Brij Bhushan Mohanty

QID : 678 - The Geographical Indication Registry of India has presented geographical indication
tag status to which of the following?

Options:

1) Banglar Rosogolla
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2) Mahabalipuram stone sculpture

3) Banaganapalle mango

4) All options are correct.

Correct Answer: All options are correct.

QID : 679 - Which of the following countries have signed IBSA trust fund agreement in October
2017?

Options:

1) India, Brazil, USA

2) India, Britain, South Africa

3) Indonesia, Britain, USA

4) India, Brazil, South Africa

Correct Answer: India, Brazil, South Africa

QID : 680 - Which is the neighbouring country of India where rupee is NOT used as currency?
Options:

1) Pakistan

2) Nepal

3) Sri Lanka

4) Bangladesh

Correct Answer: Bangladesh

QID : 681 - All the arithmetic and logical operations in a computer are done by
Options:

1) ALU

2) CU

3) Register

4) No option is correct.

Correct Answer: ALU

QID : 682 - What is the full form of '"HTML' in computer terminology?
Options:

1) Hypertext Makeup Language

2) Hypertext Markup Language

3) Hybridtext Makeup Language

4) Hybridtext Markup Language
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Correct Answer: Hypertext Markup Language

QID : 683 - When a substance loses oxygen during a reaction, it is called
Options:

1) corrosion

2) reduction

3) oxidation

4) Both corrosion and oxidation

Correct Answer: reduction

QID : 684 - Which of the following is NOT a form of calcium carbonate?
Options:

1) Lime water

2) Lime stone

3) Chalk

4) Marble

Correct Answer: Lime water

QID : 685 - Which element is most electronegative among Arsenic, Nitrogen and Phosphorus?
Options:

1) Nitrogen

2) Phosphorus

3) Arsenic

4) All these elements have equal electronegativity.

Correct Answer: Nitrogen

QID : 686 - Which of the following statement(s) is/are CORRECT for critical angle?
I. Refractive angle is 90o0.

IIl. Light ray goes from rarer to denser medium.

Ill. Light ray goes from denser to rarer medium.

Options:

1) Only I and Il

2) Only I and I

3) Only |

4) No statement is correct.
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Correct Answer: Only | and IlI

QID : 687 - To hear a distinct echo, the time interval between the original sound and reflected
sound must be atleast

Options:

1) 0.1 seconds

2) 0.2 seconds

3) 0.3 seconds

4) 0.4 seconds

Correct Answer: 0.1 seconds

QID : 688 - Which among the following is NOT a conductor of electricity?
Options:

1) Mercury

2) Manganese

3) Iron

4) Ebonite

Correct Answer: Ebonite

QID : 689 - Which of the following statement is INCORRECT?

Options:

1) An electric motor converts electric energy into mechanical energy.

2) An electric generator works on the principle of electromagnetic induction.

3) The magnetic field at the center of a long circular coil carrying current will be parallel straight
lines.

4) A wire with green insulation is usually the live wire.

Correct Answer: A wire with green insulation is usually the live wire.

QID : 690 - Under which condition real gas can work as an ideal gas?
Options:

1) High pressure and low temperature

2) Low pressure and high temperature

3) High pressure and high temperature

4) Low pressure and low temperature

Correct Answer: Low pressure and high temperature
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QID : 691 - Scurvy is caused by deficiency of which vitamin?
Options:

1) Vitamin A

2) Vitamin B

3) Vitamin C

4) Vitamin D

Correct Answer: Vitamin C

QID : 692 - Normal range of breathing rate per minute in an average adult person at rest is

Options:
1)9-12

2)12 - 18
3) 21 — 24

4) 30 -30
Correct Answer: 12 -18

QID : 693 - Which of the following element is found in haemoglobin?
Options:

1) Calcium

2) Iron

3) Sodium

4) Potassium

Correct Answer: Iron

QID : 694 - Internal fertilization occurs
Options:

1) inside female body

2) outside female body

3) inside male body

4) outside male body

Correct Answer: inside female body

QID : 695 - The eye lens forms which type of image on retina?
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Options:

1) Erect and real

2) Inverted and real

3) Erect and virtual

4) Inverted and virtual

Correct Answer: Inverted and real

QID : 696 - Influenza disease is caused by which of the following?
Options:

1) Bacteria

2) Virus

3) Fungi

4) Protozoan

Correct Answer: Virus

QID : 697 - Which of the following is responsible for turning Taj mahal yellow?
Options:

1) Carbon dioxide

2) Nitrogen

3) Chlorine

4) Sulphur dioxide

Correct Answer: Sulphur dioxide

QID : 698 - Which among the following helps in monitoring air pollution?
Options:

1) Lichen

2) Bacteria

3) Fungi

4) Algae

Correct Answer: Lichen

QID : 699 - Which of the following is NOT a particulate pollutant?
Options:

1) Dust

2) Ozone

3) Soot
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4) smoke
Correct Answer: Ozone

QID : 700 - Grassland ecosystem has which type of biomass pyramid?
Options:

1) Upright

2) Inverted

3) Both upright and inverted

4) No option is correct.

Correct Answer: Upright
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